£37 107 &R 2EL- s RAAFRTHE
TERRAER LR ERKRS S

VN A

- x;:}yg

MY 82 RN ERESTVE
BEA S RER R FL FH

(=) HAFPRAEEFRTFHDHL - ERAAAFTHERAN? §2 R §HF

L& § T

() 42s7 106 ERAAAKTHERI? £2 F | FERFTF o

(2) 447 106 23R\ KT # EBE

= ~ P

(=) e hD B | Fjrg 4 2 AT
L EHEEERRR G IRDKEST -

EETESEE
HARFHIT

= yERE

(=) #ﬁ%-ﬁ Pl ETINEAE BT %

(=) 298 = £ a7 Jiﬁ‘f]‘?/{?%}

(Z) RKPHE = 4 373 MAKTHERE T L 24580
3

CFEEp ) (PR PR ) 2 gk

(=) PR :107#4 7" 17Tp (=) = 8:30-11:30
(Z) Prlic: 2542 KFF > 154

R Lo

(Z) #E s REBERAY FZ S €3k 3%
T~ B o A g

GOSN LR R S R S T

(Z )& 2P Fjird & 2 Apie
(Z )82~ 80 4 o

()3 '*’é;iﬁm T LA R A e
= /{ﬂlip\'f"?'

F%‘?’(EP’; LR R F

(= )EBRAEE ~ BB/ FENF

S TR RTINS N AE £ R 33k s o

AT A 2 SRR E Y LG R K e &

3,1‘5‘_5,:133‘53 Fé:’ﬂi: ;%_ ;‘—iirg"a‘r%

lFlji?j_yﬁL%J_ T2+ 4 o

LN

Tl 437 2 ABEY

ZQ%‘"‘ i r'**zz""/“‘ AR Ké‘"‘ °

PR A A LG AR K

P L e e CHE VR AR L (Y A5 211043) -

P ES A PR HCET % i

08 :30~09 : 00 | 4F 7 £ prEm
09:00~09:10 | & F &z Mt 3K

' ' e 2 280 £ F % e .
09:10~10:20 | _ o (L) F W R ok -
10:20~10:30 | R4 £ ft @

s 4% 2 6 32|

: 30~11 : i I e

10 : 30~11 : 30 %02 ((2) SRS S -

(= e R4
L3 g
i
SR A RS ST e
FiE
BAPHAETRBHE L Hm R

B fR v

Eaeil o RHRAER T

PEREE § e 3



https://e-learning.tn.edu.tw/User/CourseDetail.aspx?OCID=211043
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